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A. Answer any three 15x3=45

1. What is the spectrum of health? What are the different
determinants  of health? Describe the factors of school health
programme in brief. 3+4+8

2. What is postural deformity? Describe briefly the different
types of postural deformities. What are the different
procedures you would like to consider to control diabetes?

3+6+6

3. Define Environment. Explain the importance of Environmental
studies. What are the steps needed for public awareness
regarding Environment? Write the name of two institutions
those are involve  in Environmental research and explain their
roles. 2+3+4+6=15

4. What are the causes of degradation of land? Explain various
problems of construction of dam? Discuss the reasons of
World Food Problems. 5+5+5=15
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2V Ú˛ˆò• !ÓÜ,˛!ï˛Û !Ü˛⁄ !Ó!û˛ß¨ ôÓ˚ˆÏöÓ˚ ˆò• !ÓÜ,˛!ï˛ Óî≈öy Ü˛Ó˚–

Úí˛yÎ˚yˆÏÓ!ê˛§Û !öÎ˚ˆÏsfyöÓ˚ !Ó!û˛ß¨ ôÓ˚ˆÏöÓ˚ ≤Ã!e´Î˚y =!° !Ü˛ !Ü˛⁄

3+6+6

3V Ú˛õ!Ó˚ˆÏÓ¢Û §ÇK˛y!Î˚ï˛ Ü˛Ó˚– Ú˛õ!Ó˚ˆÏÓ¢Û §Çe´yhsˇ xôƒÎ˚ˆÏöÓ˚ =Ó˚&c

Óƒyáƒy Ü˛Ó˚– ˛õ!Ó˚ˆÏÓ¢ §Çe´yhsˇ çö§ˆÏã˛ï˛öï˛y Óyí˛¸yˆÏï˛ !Ü˛ !Ü˛

˛õòˆÏ«˛˛õ @ˇÃ•î ≤ÃˆÏÎ˚yçö⁄ Ú˛õ!Ó˚ˆÏÓ¢Û §Çe´yhsˇ àˆÏÓ£ÏîyÎ˚ !öˆÏÎ˚y!çï˛

ò%!ê˛ ≤Ã!ï˛¤˛yˆÏöÓ˚ öyü Ü˛Ó˚ ~ÓÇ ï˛yˆÏòÓ˚ û)˛!üÜ˛y Óƒyáƒy Ü˛Ó˚–

2+3+4+6

4V û)˛!ü«˛ˆÏÎ˚Ó˚ Ü˛yÓ˚î=!° !Ü˛ !Ü˛⁄ ÓÑyô !öü≈yˆÏöÓ˚ ú˛°fl∫Ó˚*˛õ !Ó!û˛ß¨

ôÓ˚ˆÏöÓ˚ x§%!Óôy=!° Óƒyáƒy Ü˛Ó˚– !ÓŸª áyòƒ §ü§ƒyÓ˚ Ü˛yÓ˚î=!°

xyˆÏ°yã˛öy Ü˛Ó˚– 5+5+5

5V Úû)˛!üÛ ò)£ÏˆÏîÓ˚ Ü˛yÓ˚î Ä ï˛yÓ˚ ú˛°yú˛°=!° !Ü˛ !Ü˛⁄ Úx˛õò)£ÏîÛ !Ü˛⁄

Óyï˛yˆÏ§ í˛z˛õ!fliï˛ Ü˛yÓ≈öüˆÏöy:y•zˆÏí˛Ó˚ í˛zÍ§=!° !Ü˛ !Ü˛⁄  BOD

~ÓÇ COD §ÇK˛y!Î˚ï˛ Ü˛Ó˚– 6+3+4+2

áV §Ç!«˛Æ ê˛#Ü˛y !°á SˆÎ ˆÜ˛yˆÏöy ò%!ê˛V 7.5x2

i. Óƒ!_´àï˛ ˛õ!Ó˚FåÈöï˛y

ii. x§Çe´yüÜ˛ Óƒyô#

iii üƒyˆÏ°!Ó˚Î˚y Ä ˆí˛D%

iv. ˆê˛Ü˛§•z e´ˆÏüyß¨!ï˛

v. Ü˛!ë˛ö Óç≈ƒ !öÎ˚sfö
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5. What are the causes and effect of soil pollution? What is
thermal pollution? What are the sources of Carbon monoxide
present in the air? Define BOD and COD. 6+3+4+2=15

B. Write short note on the following (any two) : 7.5x2=15

i) Personal hygiene

ii) Non Communicable disease

iii) Malaria & Dengue

iv) Sustainable Development

v) Solid Waste Management

C. Tick (33333) in the right answer (any tem) : 10x1=10

i. Health is the :      a. absence of disease,     b. physical well-
being,        c. mental happiness,        d. all

ii. The components of school health programme are

 a. Health service,           b. Health instruction,

c. health supervision,      d. all

iii. The organization which is not engaged in health development

a. Indian Olympic Association, b. World health organization,
c. UNICEF,                        d. St. Johns

iv. Which one of the following is not a communicable disease?

a. Malaria,    b. chicken pox,       c. dengue,      d. diatetes

v. Minamata disease was associated with   –

a ) Mercury     b) Arsenic    c ) Cadmium   d) none of these.

vi. London Smog was caused by  a) Smoke        b) Arsenic

c) Chromium           d) none of these.

vii. RPM is – a) Respirable Particulate Matter b) Rapid
Particulate Matter  c) Rare Particulate Matter d) none of these.

viii. Water is required in   –
a) Cyclone separator  b) Bag Filter c) ESP  d) none of these

ix. 22nd Aprilis       a) Earth Day                 b) World  Water Day

                         c) World Population Day      d) none of these.

x. Air pollution control device is               a) Catalytic converter
b) ETP                c) Oxidation Pond          d) None of these

xi. Bag Filter is used for controlling   a) Water Pollution
b)  Air Pollution      c) Noise Pollution             d) soil Pollution

xii. Which one of the following is a hypokinetic disease :

a) Diabetes      b) malaria     c) Dengue     d) all.

ÓDyö%Óyò

Ü˛V ˆÎ ˆÜ˛yˆÏöy !ï˛ö!ê˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É 15x3=45

1V fl∫yfliƒ !ÓFå%ÈÓ˚î !Ü˛⁄ fl∫yfliƒ !öô≈yÓ˚öÜ˛yÓ˚# !Ó!û˛ß¨ !Ó£ÏÎ˚=!° !Ü˛ !Ü˛⁄

§ÇˆÏ«˛ˆÏ˛õ !Óòƒy°Î˚ fl∫yfliƒÜ˛ü≈§)ã˛#Ó˚ !Ó!û˛ß¨ !Ó£ÏÎ˚=!° Óî≈öy Ü˛Ó˚–

3+4+8=15
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